It Sry (0l00=-LJ rog) (081 retss)
l:-I)JN i IIIN [ omm 2 |mr2+\ [LJT=T=TH usmmea»\

0%
=

[

) m
N

lor,
(=]

(DE0
\ Tim OI!IEFE\ NEIHEFE\ I)ED\ me MEN& 2 IH

HT-65

240

EH .
=45 HE M - Z} LEAb
| 8 . ]
34 pin} MZAC o7 sa L L & | D, Koo b ga | wa
- coEE= Chamfer oH= (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | = © °
£ 43 WCH - O|E| LIALE - ZLEA}
A TNMP3.0G510L 9 14
¥ L103.0G5-PL 1 18 ; ; ;
M3x0.5 e P1 100 beo-ememmndeneeeead 4 320 6 3 |«
AN TNMP3.0G110L 9 14 : : :
VAN L103.0G1-PL 1M1 | 18
AN TNMQ4.01510L 1 117
AN L104.015-QL 13 20
MAxX0.7 e P2 100 Goo-emeemsieneeneasd 5 4 7 3 c
AN TNMQ4.01110L 1 17
/¥ L104.011-QL 13 1 20
AN TNMQ5.0K510L 13 1 22
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
¥ L105.0K5-QL 16 25 ; ; ;
M5x0.8 P2 100 po-eeoemeiomeneeest 55 45 7 3 ¢
A TNMQ5.0K110L 13 22 ; ; :
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘|5P [ SR ———
AN L105.0K1-QL 16 | 25
A TNMQ6.0M510L 15 | 26
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ]00 RN SRR
AN L106.0M5-QL 19 28
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP MU
A TNMQ6.0M515L 15 26
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150 b4
AN L156.0M5-QL 19 28 : : :
M6x1 [ ) SRR SR 6 45 7 3 ¢
A TNMQ6.0M110L 15 26 : : :
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 100 et
A* L106.0M1-QL 19 28
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 'ISP et
AN TNMQ6.0M115L 15 26
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150 by
A* L156.0M1-QL 19 | 28
A TNMQ8.0N510L 19
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ]00
yANS L108.0N5-QL 22
A TNMQ8.0N515L 19
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ]50 [
VAN L158.0N5-QL 22
MB8x1.25 e P2 b - 6.2 5 8 4 e
AN TNMQ8.0N110L 19
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 100 [ SRR
YANS L108.0N1-QL 22
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 1.5P R SRR
AN TNMQ8.0N115L 19
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150 [N
YANS L158.0N1-QL 22
A TNMQO100510L 23
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 100 | —
AN L1001005-QL 24
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5P
A TNMQO100515L 23
———————————————————————————————————————————————————————— 150 io--eeee : : :
M10x1.5 A* L1501005-QL P2 24 - 7 55 1 8 | 4 | e
A TNMQO100110L 23 ‘
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ]oo
VAN L1001001-QL 1.5P 24
A TNMQO100115L 150 | 23

Think threads with

YAMAWA 0= 22 RSE O=RSE

X I o * EA| 4B Mot 0Kt Tl B0ttt




X EAS 712 X2 -81 B EHE AN |
XN S2 28 D0l AYS HMTY & YELLH
LS-HT(LH) S 43 #cC & - X} L}A}
SE M2 yEac a7 sa Lo L b Ko b e wy
- Chamfer ° (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | =
M10x1.5 A* L1501001-QL 1.5P ) 150 24 - 7 55 8 4 e
/A | TNMQO10N515L 23
e sp
A L15010N5-QL 24
MTOXT.25 oo P2 150 o - 7 |55 8 4 e
A TNMQOTON115L 23
——————————————————————————————————————————————————————————— 1.5P
A L15010N1-QL 24
A | TNMQO12P515L 26
MMM RPN | SP ,,,,,,,,,,,,
VAN L15012P5-QL 29
MI2X1.75 b P2 150 o - 185 65 9 4 e
TNMQO12P115L 26
—————————————————————————————————————— 1.5P
L15012P1-QL 29
A | TNMQ0120515L 26
YANS L1501205-QL 29
MI2X1.5 e ) - 185 65 9 4 e
A TNMQ0120115L 26
A* L1501201-QL 29
A | TNMQO12N515L 26
. SP rrrrrrrrrrrr
A L15012N5-QL 29
MI2XT1.25 oo P2 150 o - 185 65 9 4 e
A | TNMQO12N115L 26
——————————————————————————————————————————————————————————— 1.5P
VAN L15012N1-QL 29
A | TNMQ014Q515L 26
O S spoo
ANG L15014Q5-QL 30 3 3
MI4X2 P2 150 - 105 8 1 4 e
A TNMQ014Q115L 2 : ;
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr 1.5P
VAN L15014Q1-QL 30
A | TNMQ0140515L 26
SRR | 5P ,,,,,,,,,,,,
VAN L1501405-QL 30 : :
MI4X1.5 o P2 150 - 105 8 1 4 e
A TNMQO140115L 26 : ;
——————————————————————————————————————————————————————————— 1.5P
A* 1 L1501401-QL 30
A | TNMQO16Q515L 26
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr 'ISO bommmmmeeeny
AN L15016Q5-QL 32
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP e
A TNMQO16Q520L 26
——————————————————————————————————————————————————————————— 200 G
VAN L20016Q5-QL 32
M16X2 b P2 b - 1250 10 F 13 1 4 e
A TNMQO16Q115L 26
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150 SR
VAN L15016Q1-QL 32
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘I.SP b4
A TNMQO16Q120L 26
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 200 [
N L20016Q1-QL 32
A | TNMQO160515L 26
S | SP rrrrrrrrrrrr
A L1501605-QL 32 | ;
MI6XT.5 o P2 150 - 125 10 13 4 e
A TNMQO160115L 26 : ;
——————————————————————————————————————————————————————————— 1.5P
VAN L1501601-QL 32
/| TNMRO18R515L 33
e spoo
AN L15018R5-RL 37
MIBX2.5 b P3 150 - 4 1 14 4 e
A TNMRO18R115L 33
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr 1.5P
A* L15018R1-RL 37
M18x1.5 A TNMQO180515L 5P P2 150 33 - 14 11 14 4 e

X 2 * BA YE2 DIt ROIXI=HE B S2IHEUC

Think threads with

YAMAWA

s/

- 12
=]

7 (OKog:
1> IE 1l

-] 124
[4=1=]

) Tm oXl¥ Sry O Mk OE OMFM IE IMr2kd (oloo2:
=] 02 2=C 4 0E Nl

(HE0bOrE!
IE [HS

/ IleOl!IErE/ HII!IHI.'.'TE/ I)EE/ I3 menne

HT-66

241



It Sry (0l00=-LJ rog) (081 retss)
l:-I)JN i IIIN [ omm 2 |mr2+\ [LJT=T=TH usmmee»\

0%
=

[

) m
2\ 2

lor,
(=]

(DE0
\ Tim OEEFE\ NEIHEE\ I)ED\ my MEN& 2 IH

HT-67

242

LS-HT(LH) S¥3 %E ¥ - & LAt

Alg
2 ANZIC o =a L 2 2, Ds K O A A
™A M d=3E Chamfer °= (mend | () | ) | () | G | oy | B | B
AN L1501805-QL 37
M18x1.5 A TNMQO0180115L P2 150 33 - 14 11 14 4 e
A* L1501801-QL 37
AN TNMRO020R515L 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150 [
VAN L15020R5-RL 37
AN TNMRO020R520L
———————————————————————————————————————————————————————— 200
VAN L20020R5-RL
M20X2.5 b 2 S e e - 15 12 15 4 e
A TNMRO20R115L ‘
——————————————————————————————— 150
VAN L15020R1-RL ‘
A TNMRO20R120L
———————————————————————————————————————————————————————— 200
A* L20020R1-RL
A TNMR0200515L 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150 | —
VAN L1502005-RL 37
A TNMR0200520L 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 200 [ —
VAN L2002005-RL 37
M20X1.5 e o T - 15 12 15 4 e
AN TNMR0200115L 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ’ISO [
AN L1502001-RL 37
A TNMR0200120L 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 200 [ SRR
VAN L2002001-RL 37
A TNMRO22R515L 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150 [N
/\* L15022R5-RL 38
/A TNMRO022R520L 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 200 [N
VAN L20022R5-RL 38
M22X2.5 e [ R s S - 17 13 16 4 e
A TNMRO22R115L 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ]50 [ —
VAN L15022R1-RL 38
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 15P D S —
A TNMRO022R120L 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 200
AN L20022R1-RL 38
A TNMR024S515L 39
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ]50 [
AN L15024S55-RL 45
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5P
A TNMR0245520L 39
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 200 [ SRR
/\* L20024S5-RL 45
M24x3 e P3 b - 19 15 18 4 e
JAN TNMR024S115L 39
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150 [N
A* L15024S1-RL 45
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ’|5P R SRR
A TNMR0245120L 39
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 200 [ ——
AN, L20024S1-RL 45
A TNMR0275520L 39
AN L20027S5-RL 45
M27X3 e P3 200 ;- - 20 15 18 4 e
A TNMR0275120L 39
VAN L20027S1-RL 45
AN TNMS030T520L 46
M30x3.5 A* L20030T5-SL P4 200 | 48 - 23 17 20 4 e
A TNMS030T120L 46

X 2 * BA YE2 Dt RO =HE I S2IHELC.

Think threads with
YAMAWA .- :z:c52 o-ss2 2-




XgY2 12 1tE -81 Y =H
% 7o

=
£
SE A o n2U0| AfYS HPE >

LS-HT(LH) ¢33 %C ¥ - 2 LpA}

He L 4 & D K | B
74 7 Al C = n 'S k DA Al
A fa d=3E Chamfer o= (o) | o) | ) | () | ) | ey | BT | B
M30x3.5 A L20030T1-SL 1.5P P4 200 48 - 23 17 20 4 e

X 2 BA YE2 DIt YoiX=2 T ZRIHEUCH

Think threads with

YAMAWA

s/

- 12
=]

(Oioe:
IE 1l

(0k02-L roaH)
I IS >

y
0 220 4m

I

(=

1M OXLI%

)

/

(HE0bOrE!
[ g ]-1=1=}

/ Tim OI!.I:EE/ rIII!IHL'!rE/ I)EE/ my MENS/

HT-68

243



	LS-HT(LH)  롱생크 핸드탭 - 좌나사_1
	LS-HT(LH)  롱생크 핸드탭 - 좌나사_2
	LS-HT(LH)  롱생크 핸드탭 - 좌나사_3
	LS-HT(LH)  롱생크 핸드탭 - 좌나사_4

